(B 1-1-1) XY XA D& AAEZA)

S8AM-& Al-2-#-8-9 A 2zolgl
MEFZHE da &7 8s &0 =g 1,394 1
SHEFEZE d £8 458 58 =8 1,646 1
FEFRE =) 1,305 1
o — 1/ 1 O—r O - a 1
ZMF(OFE 23 1,329 1
STMOHZE =) 1,745 1
(2A]) 10,455 7
ZM7 5,252 4
7182 975 1
| uFH 1,009 1
FHorg 1,470 1
HOMH, HaS 1,328 1
FAEHA HA &S Z8 970 1
s84EHT =) 1,465 1
BAXF(EST AT ZF) 1,345 1
AR M BT Se7 X)) 1,291 1
2P (=8 + AN+ =) 1,392 1
(24]) 16,497 13
Zota 5,918 4
AL 2,486 2
HSH(EFET X)) 957 1
oI M T A| 'E.*-Tl(%?A%; ) - 2;11 ;
S 182 1
Can 1,346 1
(2A]) 14,014 12
AT 1,466 1
Chs 431 1
Echs 10,498 7
daid = T
MEET =8 1,722 1
NG 1,762 1
(24]) 21,387 15
ot 8,692 6
Chs 2,961 2
SN ST 750 L
57 2,298 2
M 1,632 1
(2A]) 16,333 12
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